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Question 23 and 24 refer to the following information.
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'During mineral formation, the same chemical compound
can become different minerals depending on the
temperature and pressure at the ime of formation. A
phase diagram is a graph that shows the conditions

that are needed to form each mineral. T graph above
2 portion ofthe phase diagram for aluminosilicates,
with the temperature T, in degrees Celsus (°C), on the
horizontal axis and the pressure P, in igapascals (GPa),
on the vertical axis.
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An equation of the boundary line between the
andaluste and sillimanite reglons Is approximated
by the equation above. What i the meaning of the
T-intercept of this line?

4) 1tisthe maximum temperatureat which
sillimanite can form.

B) 1t is the temperature at which both andalusite and
sillimanite can form when there I no pressure
applied.

©) It the increase n the number of degrees Celsus
needed to remain on the boundary betveen
andalusite and sillimanite fthe pressure is
reduced by 1 GPa.

D) 1t s the decrease Inthe number of gigapascals
of pressure needed to remain on the boundary
betsween andalusite and sillimanlte i the
temperatureis ncreased by 1°C.

‘Which ofthe following systems of inequalites best
describes the reglon where silmanite can form?

200021 -067
P20.00137-025
PS0.0021T-067
P2-0001T +1.13
PS0.00137 -025
P2-0.001ST +1.13

PS00013T -025
PS-0.001ST +1.13
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‘The scatterplot above shows the revenue, in millions
of dolars, thata company earned over several years
and aline of best it for the cata. In Year 4, the
difference between the actual revenue and predicted
revenue is n million dollrs, where n i a positive
integer. What s the value of 7 Round your answer to
the nearest whole number. (Disregard the §sign when
‘ridding your answer)
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‘The table above shows selected valuesfor the function
. In the xy-plane, the graph of y=h(x) s aline. What
is thevalue of h(8)?
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